
   
    

The width of a rectangle can be expressed as “2 less than a number”.  The length of the rectangle can be expressed as “3 
more than 4 times the same number”.  Use this information to label the rectangle below.

                

                   

𝑃 = 2(𝑥 − 2) + 2(4𝑥 + 3)

 implify Sally’              

            

                    
would you explain Jill’s misconception to h

𝐴 = (𝑥 − 2)(4𝑥 + 3)

𝐴 = 4𝑥 − 6



 
                    
  

 
 –   – 

       
        ℎ         

     (9ℎ) 

        


